SO&VIQOW

A. oa?ﬁ‘TuwiodN‘oa TRk Aol A (o,2r7),
’ﬁi(ﬂ): 2 wsx + 2 O?V\«(/)—VV\QQ{) o L
(£) xR odR 7 O () DR X2 < O
{ Z
{Q(x)w e 2cosr A+ wrr=-479 L1720 2¢ Zeosm - 0092«4 <o
»C/\:Oé e COIX 7 4/,2 Aol R - CDx 7_.

=l
‘mmym]
'én(m" ~ Ioema - b O@m(owiz) St

y ok O3 7 O (&) MR OO O
(1) - ‘

M= - “W’

2oz (Lese =1) 29

(- 1)s ek

2- 2% = %“(7‘2 -

ot e 4= domt, dne Lot ok
et
o Ax gk + coft

A = 2

Cim»@w comsmakon [orE oM /% A :

1 4-2 o = Laﬂutgz-}fp(wzz)] = 7
j 1+ 2° A




' s
\J@:/t) x= :',(’/ ) 0‘1‘— h - § Z M ’
R’

I

Axk? (4+ta)
00 o 4 o
wk = S (A T

J= j (4-%)(4‘% ﬁz) Hmm’te o

it
Lo

i
who T + ——
[Q/ 8 e+ ) o

z_.) 5 2.

Y G
- . /% Qn = v 9 -2

_2 2 (4~ 2+
e . g 2 M 6 s 5nt __ o
en =7 /y\.z' L2 = e 0?

2 | |

-~ = € _ 2. ~2 _
Ay € m1<_ __Zi + L‘mb - e = o

A e 2 Wm,%rwv‘-e -
_2 52;2 4 ) A~ le N

e ( € - Dot

&< QALY -

' oM M

Yero 2D 5 o OR ConrOnFIow.

60{()“: mmaﬂ% < e, )) 7 --m+(1,u45)70.

01 yy\,{’,v\jl, fé

_ = A
éuk/vuo\/\/vt X = 3 = % E

2. 4

= X'+ C
e’ Y
)4,—«7(@0\) C”(Kj

’ — = (% +c)e
W ,7 " c=4.
TR o oo




